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SEVENTH SEMESTER
ME 1007 — PROCESS PLANNING AND COST ESTIMATION
MECHANICAL ENGINEERING
Time: Three Hours Maximum:100 marks
ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)

1. Mention the objectives of work study.

2. Distinguish normal time and standard time.

3. Mention the various approaches to process planning.
4. What do you understand by master scheduling?

5. Name any 2 examples for indirect material cost.

6. What do you understand by tear down time?

7. What do you mean by factory on cost?

8. List some of the items which constitute overhead
expenses.

9. Differentiate man hour and machine hour rate

10. Define standard time.




[image: image2.png]11.

12.

13.

PART-B (5x16=80 marks)

(2) What do you understand by method study?
Discuss in detail the objectives and
methodology invelved in it.

Or

(b) Discuss the importance of work measurement
and explain how the analytical estimation is
done

(@ Explain the contents of a process chart and its
necessity in production for cost control

Or

b

Discuss how the material planning is done in
an industry and in what way the allocation
helps in optimum utilization.

@ W Compare and contrast cost estimation
and cost accounting

(i) Why costing is essential to industrial
control?

Or

® ©

Describe the various types and sources of
data required by the cost estimator

(i)  Elaborate the importance of realistic
estimate in production
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Discuss the factors to be considered
while calculating time required for a Jjob

What are the allowances to be considered
in calculating the labour cost?

Or

With help of a diagram explain how the
selling price of a product is arrived?

The catalogue price of a certain machine
is Rs 75, the discount allowed to the
distributor is 20%. Data collected at a
period shows selling cogt and factory cost
are equal and relation among material
cost, labour cost and on cost in factory is
1:2:3. If the labour cost is Rs 14.25, What
is the profit made?

A factory has a capacity to produce 1000
components per annum. But it is presently
working at its 70% capacity. The current sales
income is Rs. 52.5 lakhs. The fixed cost is
20 lakhs and yariable cost per piece is Rs 2000.
There is a proposal to mechanize, but it will
increase the fixed cost by 20% and reduce the
variable cost by 40%.Determine
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Whether  the  current policy is
economical?

If suppose the factory provides a discount
by 10% and make the factory to run at
85% of its capacity, will it be a better
policy?
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Or

Estimate the material cost for welding 2
flat pieces of M.8 150 x 60 x 5 mm size to
form an angle with 90°by gas welding by
neglecting the edge preparation, with
cost of uxygen, acetylene and filler rod
being Rs 20/ m?, Rs 50/m? and Rs90/kg
and density of the filler material is 7
grams/m?.





